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[ UY % | 531 9> 400 B>
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2. BARABEAEETERHORFLLR (TR 200FEE. TR 0EE. DMTEE. S 2 £8E)

(%)
HE SER% 29 FFE (2017) SER% 30 fFE (2018) SHTEE (2019)
20-30 AT 29.1 AN 345 A 40.3
Q2 i 40-50 ARt 41.1 AN 46.5 v 375
60 Bt 25.9 v 18.8 A 19.8
- JESZ 2.13A4 AN 2.2H Vo 2.1%H
Q4 TR R BRI 1.6 38 Vo 1.5 Vo 1438
Q5 EfTHE FEITERAEASD) 3.2 A Vv 3.0A AN 32N
(RAAED) FITEOERE 2 141 | ZRik-#hk 52.3 | Zik-#hk 42.8 | Zik-#hk 39.8
07 REEE |\5°475— (1E8) 24.2 A 32.5 /\ 38.2
YE—4— (2 L) 70.6 Vo 64.6 \V 585
08 SeEm E%l{? ﬁ% - 63.0 ﬁ% - 61.4 | BA-=8 71.8
) 'ﬁf 2 fi @ﬁ?éﬁ 49.9 @f:?zs-méﬁ 54.2 ﬁ;% 70.6
% 31 TRIR 38.2 | &Fh-|BER 45.8 | %&Fh-1BER 30.8
e % 1 1% Hz.% 49.6 7f;z% 57.6 7f;z% 62.1
5 RS 6211 HIIERES 36.1 | HWILEES 48.5 | HILEES 61.3
B3I (=4 30.7 | fLEEE 34.1 | LiEE 41.3
Q10 EREMIHD B4 {BEAmE 37.1 | #8718/ @ 34.3 | {81EAE 41.1
ShRSE i E24I EE55m| 26.1 | BEF@AE 15.7 | BBIEEBTHDH 31.7
EUARY7— 5.4 \V 4.2 4.5
Q11 KATFESE | /wr—Smm 24.2 v 207 AN 222
EBIFEE 61.1 AN 727 vooo721
JEEE 26.8 v 18.5 A 196
e | DTTHAR 42.1 Vv 39.3 A 411
QL2 BREFEIN | e 11.9 AN 244 A 251
BIEETOh 16.2 A 17.3 / 13.1
RimE ¥ 3,200 /N ¥3,600 /N ¥3,700
TEp=t= ¥9,800 /\ ¥10,600 /N ¥10,900
Q14 EREHNTO TER ¥2,900 /N ¥4,100 /AN ¥5,300
BHUHER RAs ¥5,700 /A ¥6,700 /AN ¥7,800
(1 A 13880) Al ¥600 A ¥800 W/ ¥700
Zofts ¥200 A ¥300 V' ¥100
& &t ¥ 22,400 /N ¥26,100 /N ¥28,500
%141 ik RAZOOIZ | 32.1 | XARSIIEMEA] | 30.6 | Fik-RAZOOIS | 25.3
Q15 REDRHF e : - - - - -
(B3R 562 fiI @ﬁfbﬂiuﬁ%%ﬁ 11.9 |BEDRFHRER 14.8 @ﬁfbﬂiuﬁ%ﬂﬁ 16.0
3 fi MES-HARIDY) 7.1 | FiE-RAZE0OIS | 14.6 | M- HARIDw) 8.1
EESS=] 88.1 A 88.9 AN 945
B &P - RS 66.8 A 731 AN 795
B BE 86.9 A 87.8 A 945
(é;gi;;ﬁg) TR RS 75.1 v 72.0 A 814
B bR | TROEBOLPTE 62.7 A 67.1 AN 773
BABROAFULTE 62.5 N 73.8 N 79.5
H—E2-B565THL 81.9 A 828 A 90.5
Q17 EkR=Em MIEBITERL 67.0 \V4 52.2 /N 60.4
Q18 #ERM #HEE (9~10 R) 37.0 AN 37.8 AN 51.3
Q19 EEUTEMCE (Efi122D) 1.8 28 1.BE 2.8 58 1.BE 248

Q19 REEL Tfiofece (LEfir2 D)

1:30E7IER 28

1387 2: 5k

1:5E 2:35@B7IER

Q20 HxE (Efi122)

1:20FHT 2:h8hA

1:22F5BF 2:h3hA

1:D3h A 2:20F5

Q20 8% (£fi22)

1B 2:5-X>
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o0 2 FE (2020)

(%)

T 2 FE (2020)

& &

[E7U I ERRA]) (WE BFfAE] XxX&%&
v 36.9 35.3
AN 441 47.0
Vo 18.1 17.8
AN 2.6H 2.2H
A 1.83H 1.6 34
Vo 19 A 2.6 A
KNk - Fik 39.6 | KF-/\—ht— 42.4
Vv 26.0 38.0
N 71.0 62.0
BS 67.6 | B3 51.3
BR-= 41.1 | BRA-=8 36.5
TEY 23.9 | %&Fh-|HER 19.8
e 39.7 | 1B 60.3 | XBLLENOH 5141 #E (55.1%)
BEHEARIRL 31.5 | FasBpEaR 37.8 %247 : WUEEE (44.3%)
HILERES 31.1 | HILEES 28.0 2 3 fi1 : FEERRERRR (22.6%)
BREmOH 51.6 | #8185 @ 44.0 | XBRENOH F 1 BESTOH (36.6%)
{BEAE 23.2 | EB5@A 38.3 £ 241 BEAE (34.1%)
Vo1 10.0
Vo102 25.0
/N 87.0 62.5
\% 9.8 16.0
AN 473 52.3
AN 352 24.5
% 6.6 7.3
\/  ¥2,400 ¥ 4,100 ¥1,300 XENEMOH 1 \/ ¥2,500 (¥1,200 i)
\/  ¥8,500 ¥ 13,800 ¥2,400 i XEEENOH 1 \/ ¥9,800 (¥1,100 i)
/' ¥3,400 ¥ 4,100 ¥1,900 i XEDLBERNOH : \/ ¥3,900 (¥1,400 i)
/' ¥5,900 ¥7,800 ¥1,900 i XEDEENOH 1\ ¥6,600 (¥1,200 )
W/ ¥200 ¥ 1,200 ¥500 i XEDEENOH : \/ ¥400 (¥300 Jik)
—  ¥100 ¥700 IEERL XERBENOH : — ¥100 (EEAL)
\/ ¥20,500 ¥ 31,700 ¥8,000 i XEBNOH : \/ ¥23,300 (¥5,200 i)
BEORFEER | 15.4 | BEOKHER 16.5 | %70 2 F£ELTULJRABETIEIZOMN 53.3%
FE-FMAZOOIZ | 13.4 |FE-MAZ0OIZ | 12.5 | (ABEMASIEMTETORS IR I3]0 %)
KARSKIEIEA] | 3.6 | AARSIEBEA] | 7.8
v 79.3 72.0 XENBENDOH : \/ 89.2
V'  55.9 57.3 XENBENDOH : \/ 65.9
v 84.2 73.5 XENRBNDOH . \/ 86.4
v/ 68.0 62.5 XENRBNDOH . \/ 67.6
v/ 68.4 43.8 XENBNOH : v 71.4
/625 46.5 XERBENOH : \/ 73.9
V' 80.6 53.8 XENBENOH : \V/ 83.3
AN 723 47.0 XEAENDOH : /N 65.9
V. 46.3 27.5 XENBENOH : \/ 49.1
1: 85 2: A/ 1: 85 2: 84 -88
1: &R 2:Z@B7IER | 1:B@778R 2: BEMRBL
1:3DFBIT 2: h3hA | 1: SDFBT 2 Gld
1: 2% 2:5-X> 1: 85 2: 35X
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